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Definizione di errore

ydes(kT ) = Kd r(kT )

Errore

e(kT ) = ydes(kT )− y(kT ) = Kd r(kT )− y(kT )



FdT dell’errore

Fdt Errore

We(z) =
E(z)

R(z)
=

=
KdR(z)− Y (z)

R(z)
=

= Kd −W (z) =
k2

d

kd + G(z)

Errore a regime

e∞ = lim
z→1

[(1− z−1)E(z)]

= lim
z→1

[
(1− z−1)

k2
d

kd + G(z)
R(z)

]



Errore di posizione

Ingresso

R(z) =
r0

1− z−1

Errore

e∞ = lim
z→1

[
(1− z−1)

K 2
d

Kd + G(z)

r0

1− z−1

]

=
K 2

d r0

Kd + KG

con
KG = Kpos = lim

z→1
G(z)



Errore di velocit à

Ingresso

R(z) =
Tz−1r0

(1− z−1)2

Errore

e∞ = lim
z→1

[
(1− z−1)

K 2
d

Kd + G(z)

Tz−1r0

(1− z−1)2

]

=
K 2

d r0

Kvel

con

Kvel = lim
z→1

(1− z−1)G(z)

T



Errore di accelerazione

Ingresso

R(z) =
T 2z−1(1 + z−1)r0

2(1− z−1)3

Errore

e∞ = lim
z→1

[
(1− z−1)

K 2
d

Kd + G(z)

T 2z−1(1 + z−1)r0

2(1− z−1)3

]

=
K 2

d r0

Kacc

con

Kacc = lim
z→1

(1− z−1)2G(z)

T 2
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